
Point
Boot Kit

Instruction
Manual

Here are some guidelines to help you correcty
install your Point Boot Kit for optimized
performance.



Parts Included
1x Point Boot Kit Includes:
S

1x Tyne Frame
1x Backshoot
1x U-Bolt
2x M12 x 45 Bolt
4x M12 Nyloc Nut

1x Adaptor
1x Lynch Pin
1x Slot Mate Point
2x ½ x 2¾ Bolt
2x ½ Nyloc Nut

Step 1:

Step 2:

Attach the Adaptor to the tyne
using the main bolts.

Attach the Tyne frame to the tyne
using the main 2 bolts. Tighten the
nuts and then fasten the U- Bolt to
the top for additional support. Do
not tighten the U-Bolt before the
main Bolts.

Step 3:
After determining your desired closer
plate height and angle (see option 1 & 2)
fix the backshoot to the tyne frame and
fasten using the nuts and bolts
provided.



Step 3:

Step 4:

If you have any questions about installing your Point Boot Kit,
please do not hesitate to give us a call on 08 9354 1111

Insert the seed hose into the backshoot and
tyne frame. If you are using hose adaptors
fix the adaptors into the back shoot first and
then insert the seed hose.

Insert your point into the adaptor and use
the lynch pin provided to keep the point in
place.

Option 1: Option 2:

Standard Angle

• Recommended for dry, sandy
or lighter soils

Tilt Back Angle
• Recommended for heavy
or wet soils.



Tel: 08 9354 1111
sales@maixpoint.com.au

www.maxipoint.com.au

HEAD OFFICE: 69-71 Catalano Circuit, Canning Vale 6155, WA

Reorder Part No.

U-Bolt
M12 x 45 Bolt
M12 Nyloc Nut
Lynch Pin
½ x 2¾ Bolt
½ Nyloc Nut

*For all other parts please see our website or
price guide

Part No.Part
FA-0703
FA-0223
FA-0403
FA-0802
FA-0323
FA-0410


	Page #1
	Page #2
	Page #3
	Page #4

